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1. The minute hand of a clock moves through a 

distance of 20 minutes. The angle made between 

its initial and final position would be 	: 

1 	~  20fm1v11 

fT-2fd- 	41-a ci 	f 	ti 1 
: If 

(1) 90' (1) 90° 

(2) 100° (2)  100° 

(3)  120° (3) 120° 

(4) 150° (4) 150° 

2. If your birthday in the year 2009 was Monday, 	2. wk 	z-I-HR-f 711 2009 14 41,111( *t ?Tr, -ff1 
what day would it fall in the year 2011 ? 	 2011 4 fir  	)alf ? 

(1) 4- icicilt (1) Tuesday 

(2) Wednesday 

(3) Thursday 

(4) Friday 

3. The distance between two stations A and B is 

129 Km. A train moving with a uniform speed of 

48 km. per hour leaves station A for station B. 

After moving for 15 minutes how far would it be 

from station B ? 

(1) 117 km 

(2) 105 km 

(3) 93 km 

(4) 81 km  

3. 	747-19 A -q B 	1-# 129 ch.-41. 

48 6:1#. i;rfff 	0111    	ird 	ri ar 

7:LI-F 
 

irr A 74 	 B 

15 	 1 	q, 	#7Tff B f*--fft e0 TT; 
? 

	

4. The afternoon classes in a school begin at 1.00 	4. 	cISII(14 > 	-( 	t.Trl 1 q 	tr*-7 

	

P.M. and end at 3.55 P.M. There are four 	3 ,s4,31,41( 55 'FITT?: 'TT Tfic3=1 	zi I 	citt I 'qWe -44 5 	4 

	

afternoon class periods with five minutes in 	 3i7TTF 	-ctik w?,-TT 13k 	I 31-4T 

	

betweeen each of the periods allowed as break. 	 3T-afq F4-1-1 514 : 
The duration in minutes of each class period is : 

(1) 39 (1) 39 

(2) 40 (2) 40 

(3) 43 (3) 43 

(4) 45 (4) 45 



5. in a group of 15 children, 7 have studied English, 	5. 15 	 T1171, 7 ci 	31TX- i -4r.f1 	8 

8 have studied Hindi, and 3 have not studied 	 Lq1 72T1 3 q-,if  	c 41 

either. How many of these children have studied 	 7:f 	? 	79i -14 c 	-T-E9Y 

both English and Hindi ? 	 4t-fi -117;' 	? 

(1) 3 	 (1) 3 

(2) 4 	 (2) 4 

(3) 5 	 (3) 5  

(4) 7 	 (4) 7 

6. A non-zero number added to itself equals the 	6. v,I.) 4(sqf 41 frn717=1  	,154 trt 

multiplication of the number with itself. The 	iluvr-br.4 * <,4(1,,1( 	,31141 	I 	 4±9:11* : 

number is : 

7. How many 3's are there in the following number 	7. -14-1 	!?.41 s'itTFT 	f+74 3 

series which are preceded by an odd number 	fTreg   3 717    Tirf 

but not followed by an even number ? 	 ? 

34353152136731827855391345235435 	 34353152136731827855391345235435 

(1) One 	 (1) 	 

(2) Two 	 (2) t 

(3) Three 	 (3) ci) 

(4) Four 	 (4) alt 	

8. (0.2 + 0.3) x 0.2 x 0.3 = ? 	 8. (0.2 + 0.3) x 0.2 x ci 3 . ? 

(1) 0.3 	 (1) 0.3 

(2) 0.03 	 (2) 0.03 

(3) 0.003 	 (3) 0.003 

(4) 0.0003 	 (4) 0.0003 

Directions : In question numbers 9-13, four 

alternatives are given. Three of them are alike in some 

way. Select the one that is different. 

: 	(--it.s.6If 911 13 ti -cut cichri4 	Tr7 	I 

AWTT 	.) *14 I 	197 I 

9. (1) Brass 

(2) Copper 

(3) Silver 

(4) Iron 
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10. (1) 2, 4, 5, 10 10. (1) 2, 4, 5, 10 

(2) 3, 6, 7, 14 (2) 3, 6, 7, 14 

(3) 4, 8, 10, 20 (3) 4, 8, 10, 20 

(4) 5, 10, 11, 22 (4) 5, 10, 11, 22 

11. (1) 2147 : 6301 11. (1) 2147 : 6301 

(2) 4242: 1331 (2) 4242: 1331 

(3) 8643 : 2357 (3) 8643 : 2357 

(4) 3492: 1832 (4) 3492 : 1832 

12.  

13.  

(1) Blacksmith : Anvil 

(2) Carpenter : Saw 

(3) Barber : Scissor 

(4) Goldsmith : Ornaments 

(1) Newspaper: Editor 

(2) Film : Director 

(3) Stamps : Philatelist 

(4) Book : Author 

12.  

13.  

(1) c36R :1";t6ii 

(2) ,s4q : 3-1M 

(3) : 

(4) : 311.i 

(1) 31151-417 	: i-14-141c4-> 

(2) firic-44 : 

(3) fa-wz : 

(4) : -4uw 

Directions : In question numbers 14-18 to fill 

the blank space, select the alternative that would 

complete the given series. 

14 14 18 mq-f tit-at 

1197 
if 	(act TzTri 	-ELN 

rc,K 

t 

fq. t Trl slum 71 	1)4c-If 

14. 1, 2, 3, 5, 7, 10, 13, 17, ? : 14. 1, 2, 3, 5, 7, 10, 13, 17, ? : 

(1) 	19 (1) 	19 

(2) 20 (2) 20 

(3) 21 (3) 	21 

(4) 22 (4) 22 

15. 1, 2, 3, 6, 9, 18, ?, 54 : 15. 1, 2, 3, 6, 9, 18, ?, 54 : 

(1) 	18 (1) 	18 

(2) 27 (2) 27 

(3) 36  (3) 36  

(4) 42 (4) 42 
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16. 4, 23, 

(1)  

(2)  

(3)  

(4)  

60, 121 , 	 

212 

221 

241 

242 

16. 4, 23, 60, 121 , 	 

(1) 212 

(2) 221 

(3) 241 

(4) 242 

17. 4, 	10, 	 , 82, 244, 730 • 17. 4, 10, 	, 82, 244, 730 : 

(1) 24 (1) 	24 

(2) 28 (2) 28 

(3)  77 (3) 77 

(4) 218 (4) 218 

18. 0, 4, 18, 48, 100 	 18. 0, 4, 18, 48, 100 	 

(1) 120 (1) 	120 

(2) 130 (2) 130 

(3)  140 (3) 	140 

(4) 180 (4) 	180 

Directions : In questions 19-23, choose the f 	T : my-f Htse-41 19 A 23 14 3-A fctobc-1 - 1f-ffq Uil 
option which completes the given pattern. fc7 TR Trf—df 	tur chkor 	t ? 

19. or_sorr_orrs_rrs : 	 19. or_sorr_orrs_rrs: 

(1) rso 	 (1) rso 

(2) rrr 	 (2) rrr 

(3) sss 
	

(3) sss 

(4) ors 	 (4) ors 

20. abb_abbbbbb_bbb : 
	

20. abb_abbb_bbb_bbb : 

(1) bbb 
	

(1) bbb 

(2) baa 
	

(2) baa 

(3) aba 
	

(3) aba 

(4) abb 
	

(4) abb 
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21. oA_ook_ooM_oe_o : 

(1) oAo.6, 

(2) Moo 

(3) MoA 

(4) ozNoo 

22. rcx&_Thx_&11_&&_x&& 

(1) itx&& 

(2) Tc&Tc& 

(3) &&x 

(4) 801x & 

23. AS_PA_SS_AAS_PA : 

(1) ASSP 

(2) SPAA 

(3) PASS 

(4) SAPS 

24. If in certain code, TWENTY is written as 863985 

& ELEVEN is written as 323039, how is TWELVE 

written in that code ? 

21. oA_ooLS_ooM_c•A_o : 

(1) oAoti 

(2) Moo 

(3) MotS 

(4) Moo 

22. itx&rrx_&Tc_&&_x&& : 

(1) nx&& 

(2) n&n& 

(3) &&X7C 

(4) 8,7rx& 

23. AS_PA_SS_AAS_PA : 

(1) ASSP 

(2) SPAA 

(3) PASS 

(4) SAPS 

24. trfc fit ails TWENTY 	863985 friar ~1~tr 

31)7 ELEVEN 323039,cal TWELVE 

ebls 	f7ur -7TiTTT ? 

(1) 863203 (1) 863203 

(2) 863584 (2)  863584 

(3)  863903 (3) 863903 

(4) 863063 (4) 863063 

25. In a row of ten boys when Robin was shifted by 

two places towards the left. He became seventh 

from the left end. What was his earlier position 

from the right end of the row ? 

(1) First 

(2) Second 

(3) Fourth 

(4) Sixth  

25. 7:1 -q- 1.-1-7T-Iff 	trf-49ail qk -RTT9 fuq-4)1 

rcit Tray I -4g- -4rf n(4, 	*ficiai 	Tgfr 

3-117 	 azTr fr-2Tru 241 ? 
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26. If = means addition, = means multiplication, x 

means division then 2 = 3 ÷ 2 x 2 will be equal 

to : 

(1) 5 

(2) 4 

(3) 1.5 

(4) 6 

27. Two numbers are in the ratio 2 3. If 4 is added 

to both their ratio becomes 4 5. The smaller 

26. qk = 	 340 qua, X WI 340 14M 

2 = 3 ± 2 x 2 qtf ,sit 5.1,11 : 

(1) 5 

(2) 4 

(3) 1.5 

(4) 6 

27. t 31  2 : 3 	3-T--1-77 	e.,14 -4 4 ssi'is 

3-ichr 3-rfcrm 4 : 5 -et •rN4  it I 	 -14 A fkr 

number is : : 

(1) 2 (1) 2 

(2) 4 (2)  4 

(3)  6 (3) 6 

(L1 8 (4) 8 

28. Four children are up on a ladder. A is further up 

the ladder than C. B is lower on the ladder than 

C. D is between C and B. Who is third from the 

bottom ? 

(1) B 

(2) C 

(3) D 

(4) A 

29. In the figure given below, triangle represents the 

healthy, square represents the old and circle 

represents the women. Find out the area of the 

figure which represents the women who are 

healthy and young ? 

28. =tit 	A-V T 	i 37, A A &,-1,( Ai* ITT l 

#--1 TR Tr 41=4* 	 41,4 if 	41;4 

tut T-219 TF. 	? 

(1)  

(2) A 

(3)  

(4) z3i 

29. 1-11-iliencr Fc41 14 fTip ff-2221, ci+f 1.5, 3 	T-A 

	

wtf I rcrl 	3Zi 1-Trrr 	711d ofit 11 

	

47-2.721 41T jai Ft-;1-1)'r 	For-irzr *or t ? 

(1) 1 
	

(1) 1 

(2) 2 
	

(2) 2 

(3) 3 
	

(3) 3  

(4) 7 
	

(4) 7 



30. 30. 
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9 

Directions : In questions 30 to 32, identify the 

trend in the given arrangements and select the missing 

number. 

: 	*itself 30 321 	s 	 "Srlf 
	 U7r 4(sq-if •wt -TM 'W-4R I 

(1) 25 (1) 25 

(2) 37 (2)  37 

(3)  41 (3) 41 

(4) 47 (4) 47 

31. 31. 

(1) 22 	 (1) 	22 

(2) 24 	 (2) 24 

(3) 26 	 (3) 26 

(4) 30 (4) 30 

32. 
9 7 16 

32. 9 7 16 

8 5 6 72 6 4 48 1 8 5 6 72 6 4 48 

3 5 8 3 5 8 

(1) 56 (1) 	56 

(2) 69 	 (2) 69 

(3) 74 	 (3) 74 

(4) 87 	 (4) 87 

33. 65% of 240 + ? % of 150 = 210 	 33. 240 •r 65% + 150 •wr ? °A) = 210 

(1) 46 (1) 46 

(2) 45 (2)  45 

(3)  36  (3) 36  

(4) 32 (4) 32 
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34. Which of the following is the same as Wrestling, 	34. 1-1,--it1rchcf -14 	 iTrr 	TT1-  

	

Karate and Boxing ?   ? 

(1) Swimming 

(2) Polo 

(3) Polevault 

(4) Judo 

35. Which of the following is the same as Canoe, 

Raft and Kayak ? 

(1) Dinghy 

(2) Ship 

(3) Canopy 

(4) Submarine  

(1)  

(2) Chit 

(3) Luc-awe. 

(4) psi 	 

35. fi 	iifrncr 	14 a., 	,;1,w 	 3f“ 

Directions : In questions 36-37, select the 	fff-bT : Mq.-r Ws.qf 36-37 if, 	faa,rLr .71( 	•-11 

alternative pair of words that have the same relationship 	1-f97, 	w 44K f-c 	 4.4$'4 

between them as the given pair of words. 	 I 

36. Student : School : : 

(1) Patient : Hospital 

(2) Carpenter : Wood 

(3) Mechanic : Vehicle 

(4) Clerk : Officer 

37. Forest : Trees : : 

(1) Egg : Omelette 

(2) Petrol : Cars 

(3) Sky : Clouds 

(4) Rain : Climate  

36. f4Errzff : rasilog : 

(1) 	 : 3T-QT-dm 

(2) V-0 : W71-  

(3) : 7rT7 

(4) T9* : -cmfgct)Rf 

37. Aiirf : TT : : 

(1) 3ftt : 3TP=i4E 

(2) : chit 

(3) 31T14149 : "q179 

(4) 1t4,-ticf : 
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38. Which of the following is not a correct 	38. F-0--ircifi5c( 74 74 ch -1-7 (-461 'W1:1 1:1 	? 

sequence ? 

(1) Seed, sapling, plant, tree 

(2) Embryo, infant, child, adult 

(3) Petrol, combustion, movement, energy 

(4) Egg, larvae, pupae, mosquito 

Directions : In questions 39-41 select the 

correct missing arithmetic operations. 

Y1 :3R9 i-1(91139-41 Ti Tit ilfilicikf TifW4T3IW 

191.4 wZ 

39. 5 _ 3 _ 3 _ 2 = 16 	 39. 5  3 _ 3 _ 2 = 16 

(1) +, x, + 	 (1) +, x, + 

(2) x, +, x 	 (2) x, +, x 

(3) +, x 	 (3) 	+, x 

(4) +, +, + 	 (4) +, +, + 

40. 10212= 10 	 40. 1021_2 = 10 

(1) +, 	+ 	 (1) +, 	+ 

(2) x, x, + 	 (2) x, x, + 

(3) x, _ 	 (3) _,x _ 

41 

(4) +, x, — 

27 	3 	3 

(1) ÷, +, x 

(2) +, x, + 

(3) +, x, 

(4) +, +, + 

 3 = 18 41. 

(4) 	+, x, — 

27 	3 	3 

(1) +, x 

(2) +, x, + 

(3) +, 	x, 

(4) +, +, + 

 3 = 18 

42. How many times between 4 P.M. to 10 P.M. the 	42. 

hands in a watch will be at right angles ? 

4 	,s4 ,3 114 4R 10 GI ,st TTU* 

q9-7711-  ? 

(1) 10 (1) 10 

(2) 11 (2) 11 

(3) 9  (3) 9  

(4) 6 (4) 6 

-) 	 1451 tt TOT 



12 

43. Ruqsana is standing facing East. She turns right 

and moves 5 meters and then turns left and 

moves 5 meters. She then turns left and moves 

5 meters. Ruqsana is finally : 

(1) 5 meters East of her original position 

(2) At her original position 

(3) 5 meters West of her original position 

(4) 10 meters East of her original position 

Direction : In questions 44-45, the first two 

words are related in some way. Based on this 

relationships, choose the fourth word. 

44. Water : Ice : : Steam : ? 

(1) Heat 

(2) Water 

(3) Boil 

(4) Fire 

45. Asia : Pakistan : : Europe : ? 

(1) America 

(2) Afghanistan 

(3) Canada 

(4) England 

Directions : In questions 46 —50, find the wrong 

term of the given series. 

46. OMKI, RPNL, CAYW, KIGE, USRP 

(1) KIGE 

(2) RPNL 

(3) CAYW 

(4) USRP 

47. aabc, ddef, gghi, jjkl, mmnp, ppqr 

(1) ddef 

(2) gghi 

(3) mmnp 

(4) ppqr 

48. abdg, ijlo, mnps, rsuy, uvxa 

(1) ijlo 

(2) uvxa 

(3) rsuy 

(4) aadg  

	

43. ti.1-11 	 .45* 	q-g. 	3 

TEITT 5 41dk "q--dl't MIT F-t)i sw.a. 	la-T*7 5 TITha."( 

Vfft I77,1*1:797q-6 Rh( eliii.1*-irTh7 5 AZT 

'ff-d1. * I  	: 

(1) 311tIOft-eTrV45 111-770 ,3117t 

(2) 3411 	-ft.24Fu 

(3) 3 1 -1-4 fr-21fd -115 +-i diitr7911 	3** 

(4) 3Tcrt TI4 	10 	 -14 	ak * 

fitiT : 	 4isq1 44-45 4 -TO 

t, --F1144.4* 3TRITT 117 -2,TT qi.c 14 I 

	

44. 	: 4r : : 34icr : ? 

(1) 	 

(2) 	'1Q1 

(3) dckl-t1 

(4) 3i 	 

	

45. 7f7T4T : 	: : 	: ? 

(1) 31.47*-1 

(2) 31cFriff9R.  

(3) .1.)-iist 

(4) trAt 

MPT : sR-1 4(-x+1 46 — 50 -4 t T ItrOl31Y 1,1 IRId 

	

( 	 3444r 3-4t) 

46. OMKI, RPNL, CAYW, KIGE, USRP 

(1) KIGE 

(2) RPNL 

(3) CAYW 

(4) USRP 

47. aabc, ddef, gghi, jjkl, mmnp, ppqr 

(1) ddef 

(2) gghi 

(3) mmnp 

(4) ppqr 

48 abdg, ijlo, mnps, rsuy, uvxa 

(1) ijlo 

(2) uvxa 

(3) rsuy 

(4) aadg 
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49.  

50.  

5, 8, 16, 19, 38, 40, 82, 

(1) 8 

(2) 19 

(3) 40 

(4) 85 

5, 7, 9, 17, 37, 41, 43 

(1) 7 

(2) 9 

(3) 37 

(4) 41 

85 49.  

50.  

5, 8, 16, 19, 38, 40, 82, 

(1) 8 

(2) 19 

(3) 40 

(4) 85 

5, 7, 9, 17, 37, 41, 43 

(1) 7 

(2) 9 

(3) 37 

(4) 41 

85 

51. If VICTORY is coded as BURWFLY, how can 

SUCCESS be coded ? 

(1) WIEEXV 

(2) YYHEEYV 

(3) WHFFXV 

(4) VVFFEYV 

52. The total number of ways in which three different 

coloured balls be arranged in a row are : 

51. zrfc VICTORY -WE BURWFLY,  t SUCCESS 
err 	 ? 

(1) WIEEXV 

(2) YYHEEYV 

(3) WHFFXV 

(4) VVFFEYV 

52. a1ifafT1 aiM11   y` 	trtf*-791 
-)R A -&r-ai-T-97 	tc0 ? 

(1) 	3 (1) 3 

(2) 6 (2)  6 

(3) 9  (3) 9  

(4) 	12 (4) 12 

53. If the midpoints of the sides of a triangle are 

joined, the total number of triangles so formed in 

the resulting figure would be : 

53. 41 c fq117 -gar- 	11171 cif 
Tutu 37-*-fff 6(14 f-1117 trTY ? 

(1) 	3 (1) 3  

(2) 4 (2) 4 

(3) 	5  (3) 5  

(4) 6 (4) 6 

54. Three persons A, B, and C are standing in a queue. 

There are five persons between Aand B and eight 

persons between B and C. If there are three 

persons ahead of C and twenty one persons 

behind Awhat could be the minimum number of 

persons in the queue ? 

54. 717 ociNci A, B, 3 C "7w .noit tq 	A*B 
*A-17 -4 -crt*T*B72,Trc*-,4134771-Trti 

zft c*370. Irr 47 A* 414 -5-ozfi-IA 
cncnt wrr A wcr 60.1 01,r 1 ? 

(1) 41 (1) 41 

(2) 40 (2)  40 

(3)  28 (3) 28 

(4) 27 (4) 27 
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55. A man walks 30 m towards South, Then, turning 	55. TIT WO 30 ltgi. 	3* ticicIT I 34:4t ^41, 

to his right he walks 30 m. Then turning to his 	airk <;141 s 	s:e17{ 30 4k 	tiodr* i 3- 	34tt 

left he walks 20 m. Again, he turns to his left and 	7--*7 20 41e. -ciricil* I #57 <4 "41-  3*13---*-{ 30 -141 

walks 30 m. How far he is from initial point ? 	 'lc-KIT* i ag.  3474 3*11 f 	f-791 7 ? 

(1) 50 m 	 (1) 501k  

(2) 25 m 	 (2) 25 TilzT 

(3) 90 m 	 (3) 90 H 	dt 

(4) 120 m 	 (4) 120 H 	dt 

56. X introduces Y saying "He is the husband of the 	56. 7§r trg.  cw:1-)( 	tir747 Saar 	Ivor 	Ridr 

grand daughter of the father of my father." How is 	 iircyr *Trf.a* I -{g zr 64 ̂ 1(5 171z1FAm ? 
Y related to X ? 

(1) Brother 	 (1) 171 

(2) Son 	 (2) Azt 

(3) Brother-in-law 	 (3) 4T-1 

(4) Nephew 	 (4) 17-471 

57. The age of a father is twice that of the elder son. 	57. 	 4or 	39 377t 	 sq-r 	74 

Ten years hence the age of the father will be 3 	 tiici 77 Nor 	39 3 	4.♦4,4 
times that of the younger son. If the difference of 	 q-i1 	 qrq  	39 *. 414 15 dIti 

ages of the two sons is 15 years, the age of 	31-4 	F411 	3-9 	1,11 : 
father is : 

(1) 50 years 	 (1) 50 arl 

(2) 55 years 	 (2) 55 

(3) 60 years 	 (3) 60 

(4) 70 years 	 (4) 70 gisi 

58. Students of a school live in four localities A, B, C 	58. t 	ic1S1Iciti 	1idIS1(241 31, 7, 71, 7 -717 TO-F*1 14 (50 

and D. 20% come from locality A, 15% from B 	 I 20% c.1lchr 31 -4 344 .  *, 15% *cilehr .q 14, 25% 

and 25% from C. If 400 students come from 	 (11eIlf 77 74 i qR 400 RISIO 501cht 7 74 3 .0, .41 

locality D, what is the strength of the school ? 	 1 	cmiciel fa-trrfiTziY   4zrr* ? 

(1) 1000 	 (1) 1000 

(2) 1064 	 (2) 1064 

(3) 1088 	 (3) 1088 

(4) 1096 	 (4) 1096 

59. Ram is A, his wife Sita is B. Their son Shyam is 	59. TR 31 * oar 	,R-4 	dichf AZT Yt414 Zi * 

C and daughter Shweta is D. E is Shyam's son 	 qclor 	I 7 Y4 I4 	7Z1 * oar 7 YcIf 

and F is Shweta's daughter. Which of the following 	 7:if-d7 .1-14-11c111 4 4-f-Trr 	Wt.( 

statement is thus not true ? 

(1) F is the maternal grand-daughter of A 	 (1) 7, 37 	-1111-1 

(2) C is the maternal uncle of F 	 (2) 74, 7 WI 47:rt t 

(3) E is the grand-son of B 	 (3) 7, 7 	TAT* 

(4) D is the mother of E 	 (4) 
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60. I spent half the money in my pocket for buying 

gifts and half of the remaining in buying groceries. 

Half of the remaining after groceries was spent 

in buying vegetables. I am left with Rs. 100 finally. 

How much money did I carry in my pocket 

initially ? 

(1) Rs. 600 

(2) Rs. 800 

(3) Rs. 1000 

(4) Rs. 1200 

61. A is taller than B and B is taller than C. If C is of 

the same height as D and D is taller than E then 

which of the following is not true ? 

(1) A is taller than E 

(2) B is taller than D 

(3) E is the shortest 

(4) D and B have the same height 

62. If every alternative letter of English Alphabet is 

written in small letters and the remaining letters 

are capitalised, how will the last month of the 

first half of the year be written ? 

(1) JuNE 

(2) jUNe 

(3) jUnE 

(4) June 

Directions : in questions 63-64 five words are 

given each represented by a letter. Choose their correct 

order/sequence from the given alternatives.  

60. -44 31-Ert 4 7~ 	14A 374 	6q61t 1§rftc4 
T§I 'F*77 	3T1.1*F-+7-14 *411 	-ice I 
fro *T 	 7M-17-4 * 	.04 	3TIM 
Tfroarqf 	T§r4 -34T 13T-4 	ART 100 r-K 

I si 	Aa z1c4 	f*""d-4 	? 

(1) 600 'FT 

(2) 800 (,),-K 

(3) 1000 tlk-R 

(4) 1200 kii-R 

61. 34:4 74 ri4-.1r* 417 .4, 	71z1T* I q 	c 	-9-1;=ffc 
sRi,s1( 	 71zrr 	f9i,,rr- f-crff A A 

qzfr 	Tat ? 

34 .ffAr* 

(2) '4,7, 	7T,E(1* 

(3) u) -at 

(4) 34)7 7 

62. <AR 31:1t 	 *SrfT1Tft 3Tartr 	3P,Ti 14 
77I 717 37V-d 	34vA f--ur s.IR 	cvi 

g-A3lTfe.4 	- 1#A "FiNT 	IT ? 

(1) JuNE 

(2) jUNe 

(3) jUnE 

(4) June 

f-4-a.VT : u•-f -R,?-4163-64 	-iit( 	 f79--+-1 

v 31w '4 f-*--zE ,iiqr* 	77 rict, I 74 A 6-1*1  
-41TT,  1f97 I 

63. A exam, B — prepare, C — study, D — result, 	63. A —CWT,  B — iqR1, C — 	D — LthUTrTT, 
E — understand 	 E — TM-F 

(1) CEABD 
	

(1) CEABD 

(2) CEBDA 
	

(2) CEBDA 

(3) CEBAD 
	

(3) CEBAD 

(4) CEDBA 
	

(4) CEDBA 
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64. P. — diagnosis, B — tests, C — treatment, 	64. A — 	B — tIftWIT, C — 

D — ailment, E — cure 	 D —11111, E — 

(1) DBACE 

(2) DBAEC 

(3) DBCEA 

(4) DBECA 

Directions : Answer the questions 65-66 after 

studying the following statements : 

1, 2 and 3 are intelligent. 

1, 4 and 5 are hardworking. 

3, 4 and 5 are honest. 

1, 2 and 5 are ambitious. 

(1) DBACE 

(2) DBAEC 

(3) DBCEA 

(4) DBECA 

: sN-f k- if 65-66* drR 	tqc-f w?-r41*'.  

3Tfq7 TT clf-Aq 

1, 2 AT 31f-4179' 

1,4 AT 5 4-6-it f 
3, 4 3 5 tril7c7 

1, 2 AT 5 H5ciIchk11 

65. Who is ambitious but neither honest nor 	65. c1,1-1 4-10:111-A t* tri 	fi a4-6-ial le* ? 

hardworking ? 

(1) 1 

(2) 2 

(3) 4 

(4) 5 

66. Who is intelligent, hardworking and ambitious 

but not honest ? 

(1) 1 

(2) 3 

(3) 4 

(4) 5 

67. A man has a certain number of small boxes to 

pack into parcels. If he packs 3, 4, 5 or 6 in a 

parcel he is left with one over; if he packs 7 is a 

parcel, none is left over. What is the number of 

boxes, he may have to pack ? 

(1) 106 

(2) 301 

(3) 309 

(4) 400 

	

67. 7W 317131*MT 	t9  	 TIT#91T1 

	

cht-If 	I LIRq't-  3, 4, 5 7:1T 6 .crW tfTF 	ch 

chtcif 	'crW 	s-1101*, LIR WO' 7W 	X17 

	

ct) .n.kc11 	et2j.9 	-t 	crIcif I 37*TITTT 44, 4,(4 

f*-9.4 qa-4 ? 

(1) 106 

(2) 301 

(3) 309 

(4) 400 
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68. Seven students A, B, C, D, E, F and G are sitting 

in a row. 'C' is sitting between A and D, `E' is 

between F and G and 'B' is between D and F. 

'A' and `G' are at the two ends. 'D' is sitting 

between : 

68. Triff cisii2ff 31, A',1:1, 	2.TE -F 	.) Tifq?! *44 *I 

3T 7 "c t 4'114 IcS1 t, zr, a •* 41-a *, 

69. 

(1) C and B 

(2) A and B 

(3) B and G 

(4) C and F 

Ina group of cows and hens, the number of legs 

is 14 more than twice the number of heads. The 

number of cows is : 

(1) 5 

(2) 7 

(3) 10 

(4) 12 

(1)  

(2)  

(3)  

(4)  

69. 	41144 

`1-4' .q 4.4' .114 

'31''4 "4'* 41.ti 

a'7'* 414 

'Tr' 7 4 T' 	w14 i 

	 * IFErrfzif * L;ch Ark-6 T1 $t1 	i-ks,41 5-R* 

i-i(Emr ---1' sir') 4(9.,41 A 14 al-firw * I 'IQ .A 4tsqf 

* : 

(1) 5 

(2) 7 

(3) 10 

(4) 12 

Directions : Read the following information and 	-141 : A-4 t 	(4:c1-11 	"WcFt 54Y-I i-Rsqf 70-  71 

answer the questions 70-71. 	 * 31-It .k 

Prem is heavier than Gulshan who is lighter than 

Suraj. Lalit is lighter than Prem and heavier than Suraj. 

70. Who among them is in the third place from the 

top when they are arranged in descending order 

of weight ? 

(1) Gulshan 

(2) Suraj 

(3) Prem 

(4) Lalit 

71 Who amongst them is the lightest ? 

(1) Prem 

(2) Suraj 

(3) Lalit 

(4) Gulshan 

S/48 FACT/10—MAT-2A 

T)T1 'WI 77 '7'419 A aftrw 	-T{.  A oh,' 

34t*L7f-07*rcil-it-4 -4•TR* -crz"77A 3Tftrwt 

70. col-f 	31-1-FtrIT-T sto4 	04114 tfT *-141. 

TR 4-1 	 ? 
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Directions : Read the Information given below 

and then answer the questions 72-76. 

There are five persons A,B, C, D and E. One of 

them is a doctor, one is an engineer and another one 

is an executive. C and E are unmarried ladies and do 

not work. None of the ladies is engineer or doctor. 

There is a married couple in which D is the husband. 

B is neither an engineer nor an executive and is a 

male friend of A. 

72. Who is the doctor ? 

(1) A 

(2) D 

(3) B 

(4) C 

73. Who is the executive ? 

(1) B 

(2) A 

(3) D 

(4) C 

74. Who is the wife of D ? 

(1) C 

(2) A 

(3) E 

(4) None of these 

75. Who is the engineer ? 

(1) D 

(2) A 

(3) B 

(4) C 

76. The three ladies are : 

(1) A,B and E 

(2) C, D and B 

(3) B, A and C 

(4) A, C and E  

.M.PT 	t 71-4ffT1 4 	cb MY-f Rif 72 74 76 

d71t. 	I 

31,'4, 74, 417 1:ft I 	. 74 -crW 5IcW, 

1.) 	 114 1 24T a 3f--4-arro HI 1I1 

31)7 	 la* cf,) 	 3T2Tm 

15 • 	,) Rig I 	,31)5f 	f-41:14 	IR( 	I 

312T-qr 	 724134* .aFrf tRI 	I 

72. *144 siatt 4f ? 

(1) 3-1 

(2)  

(3) '4  

(4) Tr 

73. 	A soiRici, ch -f 	? 

(1) •4 

(2) 31 

(3)  

(4) Tr 

74. 

75. 

76. n -f Trrg-Ot* : 

(1) 34, 4?-T1 

(2) 74, -c 2,1T 

(3) 4, 34'ff?.11 

(4) 37, 74 .9--11 

? vc-it 

(1)  74 

(2)  31 

(3)  

(4)  •T)1 15. 	I 

? -11t m7 -f 

(1)  

(2)  31 

(3)  7  

(4)  74 

5142' FAcThz) - fi r_ 28 
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77. If + means division, - means summation, 	77. 

x means subtraction and + means multiplication, 

then (15 x 9) + (12 - 4) + (4 + 4) equals : 

+air aTzi iTrrt 	- 	3P-# q 11 , x •wt aTO 7,71 

3i0 quit 	(15 x 9) + (12 - 4) + (4 - 

4) GRI1t* : 

(1) 1 (1) 1 

(2) 6 (2)  6 

(3)  96  (3) 96  

7 7 
(4) 17' (4) 17-8- 

78. A cube is coloured each side with a different colour. 

Black is opposite to yellow, green is between 

black and yellow, purple is adjacent to brown, 

Indigo is adjacent to purple. If yellow is facing 

down then which side will be opposite to indigo ? 

78. •crw 	5Ict)ch i4cI6 	Mi-TR tit 	tzTT iTzTT 	I 

chiof tri TrIA*fltilb*, "UT, 411(4 41(4* cad *, 

irrt 	ricildc1(11 *, -11rif irft 	ii.hdci 	cif 

*FT 71-4 	attaifillp1 t, 	t4o6 11(4 

fwd 61,i) ? 

(1) Purple 	 (1) .4141 

(2) Green 	 (2) "Pi 

(3) Brown 	 (3) 7 

(4) Black 	 (4) =flirt( 

79. Which of the following best describes the student 

population of a school where 33% are boys and 

the rest girls ? 

79. 	islci -414 eb -f-Tft 3-F RIF.i0 •711.1tc14 ( 335) 

Wei cb(cit *, We TR 33% 7-' 	q)LI 

olicnqf ? 

GOXDO GOOCD 
(1) 	(2) 	(3) 	(4) 	 (1) 	(2) 	(3) 	(4) 
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80. Which of the following best describes your school 

population, its students and toppers of different 

classes in your school in the last examination ? 

80.  	ct;)-f TIT 31-17--  

fluml -ffqr f- fkiR TWA t FT071 TR-1W 

fqurf2-t,if .TT Nei 3K 	 ? 

    

(1) 
	

(2) 
	

(3) 
	

(4) 
	

(1) 
	

(2) 
	

(3) 	(4) 

	

Directions : In questions 81-85, on the basis of 
	

: 377 t-PYif 81-85 	ift 	 

	

the relationship seen in the first two figures choose 	 3TTNTT, 717, 73-74 f--4-wFT 	1f-17 -411-4; .9?-111-6 

	

the option that fits the space left marked with question 	-F- -T19 'TT d'-iqcfq -0 I 
mark.  

81.  

     

  

    

(4) (1) 

  

(2) 

 

(3) 

82 

(1) 
	

(2) 
	

(3) 
	

(4) 



(4) (3) (1) (2) 

(3) (4) 

84.  x 
85.  

( 1) 

21 

83.  

(4) (3) 



86.  

(1) (2) (3) (4) 

22 

	

Directions : In questions 86-88. identify the 	MVT : 51Y-1 	86-8 if TA d 	1 3TIVa 	 

	

answer figure that completes the series in the problem 	s fT 74-rrPqi 	 91(.1 r •=t TFT wrth 

figure 

87.  

i 

(1) (2) (3) (4) 

(2) (3) (4) 

88.  



23 

	

Directions : In questions 89-90, choose the 	Mgr : so-f titer-if 89— 90 Ti kL Tr7 11*,--4( 4 4 3({ 

	

answer figure out of the four alternatives that completes 	art 	y t 1F-K 4r fw TrErTzfr 31-r fa r ytr TT-de'r T) 
the problem figure. 

* * 

+ 0 * ? 
Problem Figure 

89. 

90. 

(1) (2) (3) (4) 

Answer Figures 

Problem Figure 

(1) (2) (3) (4) 

Answer FigureS 
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